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The British systemn of governmental decision making is a prime exam-
ple of what is called the Westminster form of parliamentary government—a
particularly pure and direct form' of parliamentarism. Indeed, the
Westminster form took its name from the section of London in which the

House of Parliament is tocated. In general, parliamentary government op-
erates as follows:

1. A patliament is elected by the citizens of the state (in the British case, its
House of Commons has 600-plus members}). The members of the par-
liament are the only elected national officials. There is no president, for in-
stance,

2. Instead of a president, the executive power of the state (managing the
bureaucracy, conducting diplomacy with other states, ete.) is lodged
with a cabinet of women and men who are selected by the parliament to
conduct the affairs of state. All or almost all members of the cabinet are
members of the parliament who take on executive responsibilities in ad-
dition to their legislative chores.

3. The cabinet is organized along party lines. That is, the cabinet is made
up of leaders of the party holding a majority of seats in the parliament
{or the leaders of a coalition of parties which among them hold a ma-

Jjority). They use their positions as party leaders to make sure that a ma-
Jjority of the parliament will vote for proposals of the cabinet.

4. The cabinet operates on the principle of collective responsibility. This
means that all members are bound by every decision of the cabinet. If a
member wishes to disagree publicly with a policy of the cabinet, he or
she must resign first, '

- The cabinet retains executive power only as long as it can command a
majority of the vates. At any time, a majority vote in the parliament ean
unscat a cabinet and cause a new set of people to be selected as the cab-
inet, Or if no vote is actually taken to unseat the cabinet but the cabinet
finds that it is unable to put together majorities to pass its important
bills, it s generally expected that the cabinet will resign. This is why it is
so important that the cabinet consist of party leaders who can generally
command a majority of the votes through their parties; otherwise, the sit-
uation would be hopelessly unstable.
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. Let X be a continuous random wvariable with density function

2

3
folx) =2,

U. ( Note that it is very important to give the range of U; the definition is

~1<xx<1. Let I/ = X", Please find the density function for

not complete without it. )

. Let (X ¥) have joint density function S, 3)=8xy, 0<x<y<l. Please

find (1) variance of X, (2) variance of ¥, (3) covariance of X and ¥, and (4)

correlation coefficient between Xand Y.

. Suppose that X, X, ‘and JX; are independent and that

X, ~N(24), X, ~ N(3,25), X, ~ N(4,16), Let W=2X,+2X,-3X,-4.

Please find the distribution of W.

. Stare briefly about what * Central Limit Theory “ is. ( No more than 100

words ).

. Let X,,.., X, be independent, with X, geometrically distributed with

parameter £. That is, X, has density f(x;®=06(0-6)", x=01,...,
{0 <& <1. Please find the MLEs ( Maximum Likelihood Estimators } of &

and (1-9)".
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1. Keynes, in the “general theory,” suggested:

{1} that wages and prices are unresponsive to disequilibrium
in economicymarkets.

[2) a structure that can be summarized in its simplest form
as a nonvertical aggregate supply curve.

3] that macroequilibrium can include massive numbers of
unemployed workers.

(4 that aclive policy to manipulate aggregate demand can
influence output and employment.

{51 all the above

2, By way of contrast, the classical view of macroeconomics
is that:

{1) wages and prices are always responsive to disequilib-
rium. :

(2) the aggregate supply curve is vertical at a level of GNP
indicated by potential output.

{3) unemployment either is voluntary or is caused by artifi-

cial barriers to wage-necessary adjustments,

{4} active policy to change aggregate demand will influence
only prices and not output or employment

{5} all the above.

3. Suppose that business firms change their plans and in-
crease the total of their spending on new plant and equip-
ment. The Kgynesian model would lead us to expect:

1} no change in GNE

(2} GNP and consumer spending to rise.

{3) GNP to rise but consumer apending to be unaffected.

{4) GNP to rise but consumer spending to fall.

(5} GNP to fall but consumer spending to rise.

4. In the simplest Keynesian model with only consumption
and investment contributing to aggregate demand, if the value
of the marginal propensity to consume is 0.8, then the value
of the multiplier must be:

1) 186.

(2} 2.5.

13) 2.8.

4) 4.0.

{3) 5.0,

5. A change in the total of consumer spending can have the
samé effect upon GNP {throwing it from equilibrium into dis-
equilibrium, and so changing the GNP value by a multiplied
amount) as a change in the total of investrment spending:

1) anly if the change in consumption were set off by some
factor other than a change in GNE

(2) only if the change in consumption itself were set off by a
change in GNP

{3) regardless of the circumstances that set off the change in
consumption.

i o .
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{4) only if consumption were to increase.
{5) under no circumstances, since disequilibrium GNP results
only from changes in investment.

6. If an equilibrium level of GNP were altered by a reduction
in planned investment spending, then we would expect to
see:

(1) GNP fall but saving (S) rise.

(2] GNP fall but no change in S.

(3) GNP fall and S fall also.

{4] GNP remain unchanged but $ fall.

(5) none of the preceding.

7. Assume that government spending and net exports are
both zero. On a graph that plots spending against GNE the in-
tersection of the consumption function and a 45° line drawn
up from the origin necessarily indicates:

1) the GNP level at which net investment apendl.ng {1} first
rises abave zero.

{2) equality of consumption {C} and I

(3) equilibrivim GNE

{4 equality of € and saving.

{5} none of the above, untess I happens to be zero.

8. Consider an economy with government spending and net
exports both fixed at zero: Actual GNP would then be above
its equilibrium level if:

(1) the amount that consumers planned to save exceeded the
amoun! that businesses and others planned to invest.

(2) the total of planned consumption spending (C) exceeded
the total of planned L ’

{3) there were na unscheduled or vnplanned I

(4) GNP had moved temporarily above the break-even peint
on the consumption function. )

t5) the total of planned I plus the total of planned C exceeded
the current level of GNE

9, Which alternative in guestion 8 would have been correct
had that question refurred to a GNP below its equilibrium
level? -

1),

2).

(3.

{4).

(3.

10. Suppose that the current level of GNP is $500 hillion and
that consurmers wish to spend $390 billion of that $500 billion
on consumption. Let the total amount of investment spend-
ing planned be $120 billion. These figures indicate:

(1} that GNP is out of equilibrium and will fall in value.

(2} that GNP is out of equilibrivm and will rise in value.

{3! that GNP is out of equilibrium, but whether it will Tise,
fail, or remain at its present level is indeterminate.
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- (4) that GNP is in equilibrium. {4 risen by $8 billion.
15) none of the above necessarily, since from the information (5) risen by $4 billion. B
given, GNP may be in equilibrium or out of it -

B 16. Which alternative in question 15 would have been corvect .
41. In a certain country, (a) full employment implies a GNP had that question referred to a total reduction of $2 billion

5L of $200 billion; b/ consumption expenditure at this full- in the government’s income-tax collactions, with no increase: 458
employment level of GNP would be $170 billion; (¢) total in- at all in its expenditure on goods and services?

B vestment expenditure will be $20 billion regardless of the ). :
level of GNP; and {d) the country's MPC is %. Given these 2. 7]
facts and without any government spending or net exports, B = 1 B

- the equilibrium level of GNP will be: (4}, B
(1) more than $200 hillion. - {3).

B (2) $200 billion. B
(3) $190 billion. 17. Which answer to qusstion 15 would have been correct if

L {4} Tess than $190 billion. the marginal propensity to Import had been 0.257 i
(5) impossible to compute from the information given. 1. :

10 ‘ {2). 10

B 12. The increase in investment spending needed to restore (3. -
the economy described in question 11 to full employment .

L would be: (5. o
(1) more than $1¢ billion. '

(2) $10 biltion. 18. Which answer to question 15 would have been correct

B {3) less than $10 billion but a positive amount. if the MPm had been 0.25 and exports had responded to a B
4] zero. depreciation in the value of the home currency?

1= ts) impossible to compute from the information given. ). -

2.

o 13, If the Keynesian prescription for correcting recession (3. -
were applied against a positively sloped short-run aggregate .

15{ supply carve, then: ®). 15
(1! GNP should climb while prices fall L . 7
{2) GNP should climb while prices hold steady. 19. GNP Is In equﬂlbng?, then: .

B 13) prices should climb along with real GNP () consumpfion .must be just equal fo mves'rm.ent. . “
{4} real GNP should not change while prices soat @ busim?ss receipts from gonsumption spending must just

o (5) none of the above. equal national inc_:ome. . . A

(3) any increase in spending must result in an inflationary
ap.

5 14. If people suddenly decide to spend less at every level of ﬁ”pme ovorall budgets of federal, state, and local governments i
income, then the total-spending line on the usual Keynesian must be just balanced. .

L graph shauld be drawrs (5) none of the above is necessarily correct. "

(1) higher and to the right. ., . 7
20 2 lo'wer and to the right. 20. GNP is in equilibrium at its full-employment level. The 20
B (3t higher and to the left. federal government finds jt necessary to increase its expen- -
() lower and to the left ditures on goods and services by $10 billion. it wants 0 in-

= 15) none of the above. crease taxes sufficiently so that there will be no more serious R

threat of inflation—i.e, it wants the net change in the equi-

i 15. If {a) GNP s initially in equilibriurm, (b} the government librium level of GNP to be zero. The probable increase in Lax .
then increases its total expenditure on goods and services collections needed will be: A
by $2 billion, (c) there is no increase at all in tax collection, {1} more than $10 billion,

- {d) the marginal propensity to consume i 0.75, and (g} the (2) $10 billion. -
marginal propensity to import is zero, then {assuming no {3) lees than $10 billion, but not zero.

L price-inflationary consequences} in the new equilibrium thus {4) zero. A
produced, GNP will have: ’ {5) less than zero—ie, tax collections can be reduced-

25] (1) fallen by $4 billion. {25
{2} risen by $2 billion. B
(3) visen by $6 billion. )
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1, Consumers have budgeted a fixed money amount to buy
a certain commodity. Within a certain range of prices, they
will spend neither more nor less than this amount of money
on this commodity. Their demand in this price range would
properly be designated as:

(1) in equilibrium.

(23 perfectly elastic.

(3) perfectly inelastic.

{4) highly Inelastic, but not perfectly so.

() unit-elastic. .

2. The price elasticity of demand equals:

(1) amount of price decrease divided by amount of quantity
increase. '

{2] percentage change in revenue divided by percentage de-
crease in price.

(3) percentage change in revenue divided by percentage in-
creage in quantity demanded.

) percentage change in quantity demanded divided by per-
centage change in price.

{5) none of the above.

3. When the words “total revenue” are used in any discussion
of demand curves, their meaning is:

{1} the profit, after deduction of costs, which the suppliers of
the commadity inwlved eam from selling it to consumers.
{2) the total amourt of money consumers will spend on the
commodity at any particular price,

(8) the income suppliers will receive from sales if they sell
the quantity they hope to sell.

4] the quantity of the commodity that is associated with any
particular price.

{5} null; the words "total revenue” cannot have any meaning
in relation to demand curves.

4. The concepts of “momentary,” “shori-run,’ and “long-run”

supply curves were intended to bring out which fact?

{1) Over a long period of time, gradual increases in skill
and/or improvements in the art of production tend to bring

- down the price of any commodity.

{2) Price increases as the cost of transport to any given mar-

ket increases.

[3) The extent fo which quantity supplied will respond to a
given price or demand change depends on the amount of
time given to producers to adjust their operations to this

change.

{4) In order to make the supply-curve idea meaningful, it is
necessary to speak of the quantity that will be supplied per

period of time.

{51 Although demand may exert some short-run influence,
ultimately the price of any commodity must atways be de-

termined by the cost of its production.

5. As the result of an increase in family income in a certain
community, purchases of butter rise from 1000 pounds daily
to 1500 pounds daily. As a further result, the price of butter

per pound rises from $1.25 to $1.50. This behavior:

{1) cannot be explained by the demand-curve-and-supply-

curve analysis of price determination.

(2] represents a movement by consumers upward along their
demand curve te a point of higher price and greater quantity.

(3} must be explained as a shift in the supply curve.

{4) represents a moverment of price and guantity to a position

above the equilibrivm level,

{51 must be represented by a shift in the demand curve to a

different and higher position.

2 Bn wfw

6. If a 1¢ percent reduction in a commoditys price brings
a 5 percent increase in the amount of money people spend
to buy that commodity, then in this region of the demand
curve, demand is {with respect to pricek

(1) elastic. )

(2) unit-elastic. .

{3} inelastic, although not perfectly so.

[4) perfectly inelastic.

i5) pethaps any of these—the information given is insuffi-
cient to determine elasticity.

7. Which alternative in guestion 6 would have been correct
if the 10 percent reduction in price had caused a § percent
increase in the quantity of the cormmodity that people buy?
1.

2).

(31,

{4,

5.

8. If [ can buy any quantity I please of a commuodity ata fixed
price, this means that the supply curve which confronts me js:
(1 perfectly inelastic.

(2} perfectly elastic.

(3) unit-elastic.

{4) elastic, but not necessarily perfectly elastic.
(5] none of these things, necessarily.

9. The government levies an excise tax of 5 cents per unit .

sold on the sellers in a competitive industry. Both supply and
demand curves have some elasticity with respect to price.
When this tax is represented on the supply-and-demand di-
agram;

{1) the entire supply curve shifts leftward by an amount indi-
cating 5 cents, but (unless demand is perfectly elastic) price
will not rise.

{(2) the entire supply curve shifts upward by an amount indi-
cating less than 5 cents, but (unless demand is highly elastic)
price will rise by the full 5 cents.

(3} the entire supply curve shifts leftward by an amount in-
dicating something less than § cents.

(4} the entire supply curve shifts upward by an amount in-
dicating 5 cents, but {unless supply is perfectly elastic} any
price rise will be less than 5 cents.

{5} the entire demand curve shifis upward by an amount
indicating 5 cents, and price will rise by exactly 5 cents.

10. The change brought about by the tax levy described in
question 9 could be described as:

(1) a decrease in supply followed by a decrease in quantity
demanded. '

{2) a decrease in gquantity supplied followed by a decrease in
quantity demanded.

(3) a decrease in supply followed by a decrease in demand.
4 a decrease in quantity supplied followed by a decrease in
demand. '

(5] none of the above.

11. A perfectly inelastic supply curve would be shown in the
ordinary supply-and-demand graph as:

(1) avertical line,

(2] a horizontal kine,

{3} a straight line, but neither horizontal nor vertical.

{4} a curved line.

[5} perhaps any of the above.
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12. Which alternative in question 11 would be correct for the
graphical portrayal of a perfectly inelastic demand curve?
. '

2L

(3

(4}

(5).

13. A change in quantity demanded, as distinct from a
change in demand, means:

(1) that buyers have decided to buy more (or less) than they
did before, at every price including the existing price.

(21 that the elasticity of demand with respect to price has
increased or decreased.

{3) simply that the quantity of purchases has changed, re-
gardless of the factor which brought about this change in
buying.

(4) that the market price has fallen or risen, and lmyers have
changed their total purchases accordingly:

(51 that there is an increase in total purchases, but not a
decrease.

14. Which alternative in question 13 would be correct for
a change in demand rather than a change in the quantity
demanded?

(1.

(2.

(3.

14).

(5).

15. Following the OPEC price rise, consumers of gasoline and
oil products reduced their purchases, but by a much smaller
percentage. This means that their demand curve for such
products:

{1} was price:elastic.

{2} shifted slightly to the right.

(3t was price-inelastic.

(41 shifted slightly to the left.

(5} was unit-elastic with respect to price.

16. If a demand curve displays unitary price elasticity
threughout its entire length, then;

(1! the demand curve is a straight line, and total expenditure
by buyers is the same at all prices,

(2i the demand curve is not a straight line, and total expen-
diture by buyers falls as price falls.

(3! the demand curve is a straight line, and total expenditure
by buyers first increases and later decreases as price falls.
4! the demand curve is not a straight line, and total expen-
diture by buyers rises as price falls.

{5! none of the above is correct.

17. An increase in demand for a certain product ocowrs. A
new short-run equilibrium is established, but it gradually
glves way to a new long-run equilibrium price. In the nor-
mal case, these prices would be related to the original price
as follows: Long-run equilibrium price would be:

11) higher than both the short-run and the original prices.
{21 lower than the short-run price but could be higher than
the original price.

'3) lower than both the short-run and the original prices.
14 higher than the short-run price but lower than the origi-
nal price,

‘5t related 1o the short-run and original pnces in a manner

not indicated by any of the above.

18. Suppose that the demand curve for wheat is perfectly
inelastic with respect to price. If a tax of 50 cents per bushel
sold were imposed on sippliers, then:

(1) price would rise, but by less than 50 cents, and there
would probably be some reduction in the guantity bought
and sold. _

(2) price would rise by the full 50 cents, but there would be
no reduction in the guantity bought and sold.

{3) price would rise, but by less than 50 cents, and there
would be no redustion in the guantty bought and sold.

{4) price would rise by the full 50 cents, and there would -
definitely be a reduction in the quantity bought and sold.

{5) none of the above is correct,

19. A crop failure reduces the amount of wheat available, and
so the price rises. In precise terms, this is:

{1) a decrease in the guantity supplied followed by a decrease
in demand.

{2} a decrease in supply followed by a decrease in demand.
(3] adecrease in the gquantity supplied followed by a decrease
in the gquantity demanded.

[4) a decrease in supply followed by a decrease in the quan-
tity demanded.

15) none of these things.

20. Early in the 1970s, OPEC raised oil prices very sharply
by forming a cartel. In elementary supply-and-demand-curve

terms, OPEC's action of regtricting world trade in oil could be
described as:

{1} a leftward shift of the supply curve.

{2) a leftward shift of the demand curve.

{3) a rightward shift of the supply curve.

{41 a rightward shift of the demand curve.

(5) an increase in equilibrium price, but with no change in
either demand curve or supply curve.
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